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— M INT2 N KD 1'\798:27
As it is written; he did not create it to be desolate, etc.

OVERVIEW

v"2 challenged the ruling of 7"2 (regarding a 177 12 1°¥mM 72V 1X) that he serves
his master one day and himself one day. The 72¥ will not be able to have children
even though the world was created only for °27 79 as it is stated 7872 170 K
77%° nawh. Our Moo explains why w"a did not cite the P05 of 1271 179.

mooIn responds to an anticipated difficulty:
— 1291 9997 N9 31199 N9T XN

The reason the X712 does not cite the 2199 of 1291192 -
— >mray 783 1959 7Y NIYS NAYHT DIV 59791 93 PNYS 13939 AN

Explains the a''2°9, is because the obligation of 773> naw> applies even to the
slave component of this 72.

mooIN anticipates a difficulty:
— P9 XN NI NNIY DIVN XINX NIINYT N29 NN 193 XIT 199N NI NIENI HNAY N8N

And regarding” a nsw 7°%n and 10 na oxn where they forced the master to

free her only because they acted with her promiscuously, seemingly even without
the reason of 7577 373 72 171 they should have freed her to be naw a»pn, which applies to 272y
[mnown] as well —

mooIn replies:
— DAY DIVYN N 195 NIT NN

The reason 7"°2 did not coerce the master to free her because of naw, is -
— 11529 N99N NP9 NIT DIVN DIPN R PN NI NYYNYI 199N NNV

That perhaps even when she will be freed she will not be naw a»p2, since she is

not commanded for 2'"1p -
— 1929) N99N NTPON NI RNNNT (0w 1,70 97 0w) NN DY NIND )999INT

U mn mvee.

2 Seemingly the 109 of 1271 179 (in 1712,X N°wX12) would have been a better choice since it is written in the 770 (and
not merely in the o°X°23).

? However, the 71%» of 1271 119, which is written in the 70 applies only to YXw» *13, therefore it would be applicable
only to the m7°1 7 but not to the M7ay 7% (of this 72v). Therefore he mentions the 105 of 771¥> Naw% which applies
(both to the m7°r 7% and) to the M7y 7X.

* This story is cited in X,10 N2> where 1571 21 explained that since she could not get married, the people were 772 1373
IP5;1 A1, therefore they forced the master to free her so she could get married.
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As the mwn states in n%3° 5y 8377 P79, that a woman is not commanded on "9
— D995 7195 5¥ 1PN 13 AYNPYWA Tay Yax
However, a slave when he will be freed, perforce he will be °"15 a»p».

mooin offers an alternate solution why he does not mention 7"9:
— 129 9997 NP VPI XY 7Y W91 PNY 139299

And the "9 explained that the reason he did not mention the 102 of 9'"18 is -
— ONN NIV 1172 NINN ANIND NI 90T DIVN

Because he is exempt from that ;7x» since he is forcibly prohibited from preforming
this mxn (for he is a 72y >31) -
— PN J2IMYYY 1299 13295 XY 12 29NNY 31

And we do not coerce the master to free him so that he should become
obligated in the myn of 1"o.

mooIn proves this point that we cannot force a master to free a slave so that he should become
2171 in a mM1¥n, which at present he is not 21n:
— MmN Y33 1259NMY 21 B99NYY DAY 999) D*7ayN Y51 15 ONY

For if indeed so (that we do coerce in order that the 72v should become 2°117) then
by all slaves we should coerce their masters to free them in order that the

slaves should become 2% in all the N12» (and not only in the m¥»n which a woman is
2 nn, as their status is now). We do not do this; this proves that if the 72y is currently not
obligated in a Mxn (even because of an 01X), we do not force the master to free him so that he
will become 217, N15OIN continues with the answer -

— 13995 Y21 DIVNI N9 NMINN XXV *DIUn N2 17N NY NP VP 790
And therefore v"2 mentioned ;7873 170 8% because it [implies that it’] is a great

mxn and therefore we coerce the master.'”

> The X3 there explains because the P109 states MWIN YR DX WM 127 12, it is the manner of a man to conquer
(mMw2a1) and wage war, but it is not the manner of a woman to conquer

® A woman is obligated in naw but not in 29, whether she is a 7w or 71 na. Therefore we do not coerce the
master to free a 121 IMOW *¥n, because since she is not 2™1n in 7" (which is a XN»7RT AWY N1¥N), she may not
fulfill the obligation of naw (which is not a 7wy nn). However, a man who is 1" 2 if he is a 9%, we
therefore coerce the master to free him for he will then be 7" o»pn (which he is obligated to [and also naw]). This
explanation will (seemingly) apply according to the *"1 nuw below as well.

7 See “Thinking it over’ # 1.

¥ The n"a7 M amends this to read M¥n yawnw Dwn. (Perhaps it should read 727 Mx»n XAW yAwHAY 2WH.)

? The 109 of 77¥° NAWY 7812 AN X2 teaches us that 1™o is a 721 Mx». The purpose of creation is 7% Naws.

1% According to the *", we cannot be 71913 the 117X to be 77mwn the 72y to perform a mx», which currently he cannot
perform (either because there is no 211 or [even] because he is an 01IX), unless it is a 727 M¥n, like N2w, but not for
other n1¥n (including 7"3, if not for the fact that n2w made it into a 727 Mx¥n). See ‘Thinking it over’ # 2.

2
TosfosInEnglish.com



AR 7"7 '0MN K,20 2" 702

mooIN proves that NAW is a 727 Mx» (but not 71"d):
— 991 DIVN RIP INND N0 ) (13 97 NDIINT 72 P99

And because of this (that naw is a 727 mx»n) the X723 in the second P99 of noon

o3 also cites this 210D of 7% naw® -
— YN KUY 1991 11999 RIN D90 990 19991 PPN *2)

Regarding the ruling that a n''® may not be sold unless the proceeds are used to

study 77910 or to marry a woman; the reason why we may sell for these two purposes is -
— YYN 27D NOANY NN 1I1MUN DI 99 9INRT AN NHndH

To study 770; because the master said, ‘the study of 770 is great for it brings
to the observance of mzn -
1Y NIYY NIN NINI2 1NN KD 903 DYUNR XYY

To marry a woman is also a great 7% as it is written 579X Naw» XYN 7872 1770 K.
The X3 there too cites the 105 of naw> (for that creates the great mx») but not the P05 of 2™>.

SUMMARY

The advantage of naw% over 7" is: a) that it applies even to the m7ay 7Y, as
opposed to 1"15 (2"27) or b) that (only) naw is a 727 M¥N. We (generally) cannot
force the 7R to be 7MWwW» an 72¥ so that he should become 211 in a M¥H ("), A
woman is not obligated for 7" (but is obligated for naw).

THINKING IT OVER

1. The "7 states that the "121 72y >¥17 is MWD from 71™19 since he is an 01X, Therefore
we cannot coerce the 117X to free him to be 2pn something that currently he is 7109
from being 0>°pn, and he proves this from the fact that we do not coerce the 17X to
free the slaves to be a»pn all the myn.'' How can the *"3 compare the M5 of O,
where seemingly there is a Mxn, but 7°70d X171 01X to the case of 0’72y who are
categorically "o from all the (3"»1w) Mxn and not (merely) because of an onx?!'?

2. How are we to understand that 1" which i1s a Xn7IR7 7% cannot be a cause to
force the NIX to free the slave; however, N2w, which is not a XN™MRTH WY MXH,
requires the master to free the slave?!

' See footnote # 7.
12 See n'"m.
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